I. LIQUIDITY RATIOS

Liquidity Ratios are also termed as Short-Term Solvency Ratios. The term liquidity means the e:xtenl
l?f quick convertibility of assets in to money for paying obligation of short-term nature. Acegudingh
liquidity ratios are useful in obtaining an indication of a firm’s ability to meet its current liabilities, but it
does not reveal how effectively the cash resources can be managed. To measure the liquidity of a firm, the
following ratios are commonly used:

(1)  Current Ratio.

(2) Quick Ratio (or) Acid Test or Liquid Ratio.

(3) Absolute Liquid Ratio (or) Cash Position Ratio,
(1) Current Ratio

Current Ratio establishes the relationship between current Assets and current Liabilities
to measure the ability of a firm to meet its current obligations. In order to compute this ratio. th
formula is used :

It attempts
e followin g

Current Assets

Current Ratio = =
Current Liabilities

The two basic components of this ratio are current assets and current liabiljties. Current asset
normally means assets which can be easily converted in to cash within a year’s time. On the other hand
current liabilities represent those liabilities which are payable within a year. The following table rcprcscms:
the components of current assets and current liabilities in order to measure the current ratiog -
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Components of Current Assets and Current Liabllities

Current Assets Current Liablllvles

1. Cash in Hand 1. Sundry Creditors
2. Cash at Bank (Accounts Payable) ,
3. Sundry Debtors 2. Dills Payable .,"z'{;
4. Bills Receivable 3. Outstanding and Accrued Expefises
5. Marketable Securities 4.  Income Tax Payable

( Short-Term) s.  Short-Term Advances
6.  Other Short-Term Investments 6.  Unpaid or Unclaimed Dividend
7. lnventories : 7. Bank Overdraft (Short-Term period)

(8)  Stock of raw materials

(b)  Stock of work in progress

() Stock of finished goods

Interpretation of Current Ratlo: The ideal current ratio is 2:1. It indicates that current assets
double the current liabilities is considered to be satisfactory. Higher value of current ratio indicates more
liquid of the finm's ability to pay its current obligation in time. On the other hand, a low value of current

ratio means that the firm may find it difficult to pay its current ratio as one which is generally recognized
as the patriarch among ratios.

Advantages of Current Ratios:
(1) Current ratio helps to measure the liquidity of a firm.
(2) It represents general picture of the adequacy of the working capital position of a company.
(3) It indicates liquidity of a company.
(4) It represents a margin of safety, i.c., cushion of protection against current cfrcdilors.

(5) It helps to measure the short-term financial position of a company or short-term solvency of a
firm.

Disadvantages of Current Ratio:

(1) Current ratios cannot be appropiiate to all busineses it depends on many other factors.

(2) Window dressing is another problem of current ratio, for example, overvaluation of closing
stock.

(3) [Itis a crude measure of a firm's liquidity only on the basis of quantity and not quality of current
assels.

Calculation of Current Ratio:

Illustration: 1
The following information relates to Mishra & Co. for the year 2003, calculate current ratio:
Current Assels Rs. 5,00,000
Current Liabilities Rs. 2,00,000
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Solution:

Gt iy AN y
Curresa Liabifities .
S0 .

T 2m0m 752/

= 25(er)25:1 g '-.f

Thﬂ cumrent = e
ratio of 2.5 mezns that corrent 2w 2z 2.5 times of curvent fiabilities.
Illustration: 2

Calculate Current Ratio from the following Information

e
Liabaiﬁt’ PJ. M Rs.
S credi e —
Bullx;dry i 4000 [rventories 1,20,000
s payzable . - 140,000
Dividend 30,000 Semdsy debtors
Pt 5 w00 | Cash oz Bank 40,000
Short-term ad: 1500 Eills Receivable gg%
S 5000 Prepaid expenses
st o 15000 | Mackivery 20000
20000 | Paeu 50,
Land & Building | 1,50,000
Solution:
Current Rztio =
( prrest [jzb"'rh:a

Current Assets R 120000 + 140,000 + 40,000 + 60,000 + 20,000

Rs. 350,000

[

Current Lizbilities = Pe 40000 + 30000 + 36,000 + 14,000 + 50,000
Bs. 170,000
35000
Current Rztio =
1,700

= 224(c0)224:1

(2) Quick Ratio (or) Acid Test or Liquid Ratio

1 iqui i i a io. The
i i termed 2s Acid Testor Liquid Ratio. It is supplementary to the current ratio
e - of 2 firm’s ability o p2¥ its short-term obligations as and

i io 1 -ere znd stringent 1251
acid test ratio 1s @ more severe znd 1g I e g

when they become due. Quick Ratio estzblishes the relationship be:u.-.ecsseu;e_ qui
liabilities. In order to compute this r210, the below presented formula 1S -
Liquid Assets
(Current Assets — Stock and Prepaid Expenses)
Liquid B ) Current Liabilines .
k Ratio can b¢ calculated by tWO basic components of quick assets and current liabilities.
ick Ratio c2 alculated DY . g
Qufcl’ Assets —  Current Assets = (Inventonies + Prepaid expenses)
o . it i 2 ithin a year.
2 rrent liabilities represent those liabilities which are payzble within 2 }
u i
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Test Ratio is an indication
On the other hand, a low

Ratio Analysis
satisfactory. High Acid

The i sk Rats

et ahe ﬁ:{j‘ezlan-lle_ Ratio of 1:1 is considered to be

ol SE G s r.elalwr:I): better position to meet 1s current obligation in time.
ratio exhibiting that the firm’s liquidity position is not good.

{:‘Q -

Advantages
(1) Quick Ratio helps t

o measure the liquidity position of a firm.

(2) Itis usedasa supplementary to the current ratio.

(3) Itis used to remove inherent defects of current ratio.

Illustration: 3
Calculate

rmation given below -
Rs.

Current Assets 4,00,000
Current Liabilities 2,00,000
Inventories (stock) 25,000
Prepaid Expenses 25,000
Land and Building 4,00,000
Share Capital 3.00,000

2,00,000

Good Will

Quick Ratio from the- info

Solution:
Quick Assels

Quick Ratio
Current Liabilities

paid Expenses)

Current Assels — (Invemorics + Pre
Current Liabilities

1
g
»
3

= |8

s {1

2|

3

I
s

8
g

Ratio. This ratio
Absolute Liquid
investments. The
quid assets are

tio
r) Over Due Liability

(3) Absolute Liquid Ra
Cash Position Ratio (0
d current liabilities.

Absolute Liquid Ratio
. between the absolute liquid assets an
table securities OF temporary

established the relationship
Assels include cash in hand, cash at bank,
e, 1:2.1 indicates that 50% worth absolute 1i
in time. If the ratio 1§ relatively lower than

optimum value for this ratio sh

considered adequate to p3y the ent liabilities .

one, it represents that the comp management is poor. If the ratio 1S considerably
h funds in the form of cash 10 meet its short-term

more than on¢, the absolute liqui

100% worth curT
any’s day-to-day cash
d ratio represents enoug
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obligations in time. The Absolute L iquid, Ratip can be calculated by dividing the total of e t"coum..,g

Liquid Assets by Total Current Liabilities. Thus, Absq SOl
Absolute Liquid Assets
Absolute Liqui i o — T
¢ Liquid Ratio Current Liabilities ‘
o
Mustration: 4 .-ef“;”
Y
Calculate Absolute Liquid Ratio from the following Information
Liabilities Rs. Assets Rs.
T ——
Bills Payable 30,000 Goodwill 2,00,000
Sundry Creditors 20,000 Land and Building 2,00,000
Share Capital 1,00,000 Inventories 50,000
Debenture 2,00,000 Cash in Hand 30,000
Bank Overdraft 25,000 Cash at Bank 20,000
Sundry Debtors 50,000
Bills Payable 75,000
Marketable Securities 10,000

Solution:

The ratio of

Absolute Liquid Ratio

Absolute Liquid Assets

Current Liabilities

Absolute Liquid Ratio

\J Hlustration: 5

You are given the following information :

-’

Cash in Hand

Cash at Bank

Sundry Debtors
Stock

Bills Payable

Bills Reccivable
Sundry Creditors
Outstanding Expenscs
Prepaid Expenses
Dividend Payable

Absolute Liquid Assets

Current Liabilities

Cash in Hand + Cash at Bank +
Marketablc Securitics

Rs. 30,000 + 20,000 + 10,000
Rs. 60,000

Rs. 30,000 + 20,000 + 25,000
Rs. 75,000

nn

nou

60,000
75,000

= 0.8

Rs.

10,000
15,000
75,000
60,000
25,000
30,000
40,000
20,000
10,000
15,000

0.8 is quite satisfactory because, it is much higher than the optimum value of 50%.
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tatio Amalviy

Land and Building

Goodwill

2,00,000

1,00,000
olute Liguldity Ratio

Caleulate; (n) Cunrent Ratlo () Liguid Ratlo (¢) Abx

Solution:
A
) Current Assels —f\&,
(a) Current Ratio B — : o
‘ Current Linbilities ¥
Current Assets @ Ry,
Cash in Hand 10,000
Cash at Bank 15,000
Sundry Debtors 75,000
Stock 60,000
Bills Receivable 30,000
Prepaid Expenses 10,000
Total Current Assels Rs. 2,00,000
Current Liabilities @ Ry,
Bills Payable 25,000
Sundry Creditors 40,000
Outstanding Expenses 20,000
Dividend Payable 15,000
Total Current Liabilities = 1,00,000
Rs. 2,00,000

Current Ratio =
Rs. 1,00,000
= -2 times (or) 2:1

Liquid Assets

(b) Liquid Ratio =
Current Liabilities

Current Assets — (Stock and Prepaid Expenses)
Rs. 2,00,000 - (60,000 + 10,000)

Rs. 2,00,000 - 70,000

= Rs. 1,30,000

Liquid Assets =

1,30,000
- = 1.3 times (or) 1:3:1

Liquid Ratio =
1,00,000

Absolute Liquid Assets

1]

(c) Absolute Liquid Ratio
Current Liabilities

Absolute Liquid Assets = Cash in hand + Cash at Bank
+ Marketable Securities

= Rs. 10,000 + 15,000 + Nil
I * Rs. 25,000
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Absolute Liquid Ratio

/

Illustration: E/

Given :

Current Ratio
Liquid Ratio
Working Capital

Solution:

'--ul“g
25,000
1,00,000

0.25
<
2P
LR Y
26
1.4
Rs. 1,10,000

Calculate : (1) Current Assets (2) Current Liabilities (3) Liquid Assets and (4) Stock.

Calculation of current assets and current liabilities :

Working Capital
Current Ratio

Working Capital
Working Capital

Working Capital (Given)
-+ 1.6

(1) Current Assets

(2) Current Liabilities

(3) Calculation of Liquid Assets :

Liquid Ratio (Given)

Liquid Ratio

14

Liquid Assets

(4) Calculation of Stock :
Liquid Assets
Stock

non

Current Assets — Current Liabilities
Current Assets : Current Liabilities
(or)

Current Assets

=2.6:1
Current Liabilities

Current Assets — Current Liabilities

26 -1
1.6
1,10,000
1,10,000
26
1,10,000 x = Rs. 1,78,750
: 16 .
1
1,10,000 x = Rs. 68,750
1.6
1.4
Liquid Assets

Current Liabilities

Liquid Assets

Rs. 68,750

68750 x 1.4
Rs. 96,250

Current Assets - (Stock + Prepaid Expenses)
Current Assets — Liquid Assets

Rs. 1,78.750 - Rs. 96,250

Rs. 82,500
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I1. PROFITABILITY RATIOS

'tht term profitability means the profit earning capacity of any business activity, Thus, profit carning,
may be judged on the volume of profit margin of any activity and is calculated by subtracting costs from
the total revenue accruing to a firm during a particular period. Profitability Ratio i used to measure the
U“QTall.efﬁCiency or performance of a business. Generally, a large number of ratios can ‘;!;"" be umed for
determining the profitability as the same is related 1o sales or investments. 7 \p

The following important profitability ratios are discussed below "t
Gross Profit Ratio.

Operating Ratio.

Operating Profit Ratio.

Net Profit Ratio.

1.
2
3
4
5. Return on Investment Ratio.
6. Return on Capital Employed Ratio.
7. Eaming Per Share Ratio.
4. Dividend Payout Ratio.
9. Dividend Yield Ratio.
10. Price Earning Ratio.
11. Net Profit to Net Worth Ratio.
(1) Gross Profit Ratio

Gross Profit Ratio established the relationship between gross profit and net sales. This ratio is
calculated by dividing the Gross Profit by Sales. Itis usually indicated as percentage.

Gross Profit
Gross Profit Ratio S e (R 100
Net Sales

Gross Profit _ Sales — Cost of Goods Sold
Net Sales = Gross Sales — Sales Return (or) Return Inwards

Higher Gross Profit Ratio is an indication that the firm has higher profitability. It also reflects the

effective standard of performance of firm’s business. Higher Gross Profit Ratio will be result of the

following factors.
(1 Increase in selling price, 1.€., sales higher than cost of goods sold.

e

(2) Decrease in cost of goods sold with selling price remaining constant. S
(3) Increase in selling price without any corresponding proportionate increase i COB TR o
(4) Increase in the sales mix.

A low gross profit ratio generally indicates the result of the following factors -

(1) Increasc in cost of goods sold.

(2) Decrease in selling price.
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(3) Decrease in sales volume. B
(4) High competition. “
(5) Decrease in sales mix.

Advantages y

(1) Tt helps to measure the relationship between gross profit and net sales. .r'-’.‘.,-?

'

(2) It reflects the efficiency with which a firm produces its product.

(3) This ratio tells the management, that a low gross profit ratio may indicate unfavourable
purchasing and mark-up policies.

(4) A low gross profit ratio also indicates the inability of the management to increase sales.

Illustration: 7

Calculate Gross Profit Ratio from the following figures :

Rs.
Sales 5,00,000
Sales Return 50,000
C]OSing Stock 35.000
Opening Stock 70,000
Purchases 3,50,000

Solution:
Gross Profit

Net Sales

Sales — Sales Return

Rs. 5,00,000 - 50,000

Rs. 4,50,000

Sales — Cost of Goods Sold

Opening Stock + Purchase — Closing Stock
Rs. 70,000 + 3,50,000 - 35,000

Rs. 4,20,000 - 35,000 = Rs. 3,585,000

Rs. 4,50,000 — 3,85,000 = Rs. 65,000

65,000
4,50,000
= 14.44 %

Gross Profit Ratio

x 100

Net Sales

Gross Profit
Cost of goods sold

Gross Profit

x 100

Gross Profit Ratio

(2) Operating Ratio
Operating Ratio is calculated to measure the relationship between total operating expenses and sales

The total operating expenses is the sum total of cost of goods sold, office and administrative expenses and
selling and distribution expenses. In other words, this ratio indicates a firm’s ability to cover total operating

expenses. In order to compute this ratio, the following formula is used :

Operating Cost i
; . _ %
Operating Ratio = e il
ati = Cost of goods sold + Administrative Expenses
S + Selling and Distribution Expenses

]

Net Sales Gales — Sales Return (or) Return Inwards.
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Hustration:

Find out Operating Ratlo

Cost of gooda wold W, 400,000
Office and Administrative Expenuet Ka, 30,000
Selling and Diatelbation Expennses Its. 20,000

Soles e, 6,00,000 y
Sules Retun Rs. 20000 =% ¥
Solution: '
Operating Cost
Operating Ratlo = e %, J(K)
Net Sales
Operating Cost e Cost of goods sold 4 Administrative Expenses
+ Selling and Distribution Expenses
- Ry, 4,00,000 4 30,000 + 20,000
= Rs. 4,50,000
u Rs. 6,00,000 - 20,000
= Rs. 5,80,000
) . 4,50,000
Operating Ratio = x 100
5,80,000
= 77.58 %

ave been consumed by cost of goods sold, administrative

This ratio indicated that 77.58% of the net sales h
23.42% indicates a firm's ability to cover the interest

expenses and selling and distribution expenses. The remaining,
charges, income tax payable and dividend payable.

(3) Operating Profit Ratio
dicates the operational efficiency of the firm and is a measure of the firm's

Operating Profit Ratio in
Operating Profit Ratio can be calculated as :

ability to cover the total operating €xpenses.

Operating Profit

Operating Profit Ratio = x1
Net Sales
Operating Profit = Net Sales — Operating Cost
(or)

= Net Sales — (Cost of Goods Sold + Office
and Administrative Expenses + Selling
and Distribution Expenses)
(or)
= Gross Profit — Operating Expenses
(or)
= Net Profit + Non-Operating Expenses —
Non-Operating Income.

Net Sales - = Sales — Sales Return (or ) Return Inwards
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Illustration: 9

From the following information given below,

Gross Sales

Sales Return

Opening Stock

Closing Stock

Purchases

Office and Administrative Expenses
Selling and Distribution Expenses

Solution:

Operating Profit Ratio

Operating Profit
Net Sales

o nnn

Total Operating Cost

Cost of Goods sold

Total Operating Expenses

Operating Profit

L L | I TR TR TR

N

Operating Profit Ratio

Illustration: 10

.-u""Ilg

you are required to calculate Operating Profit Ry, .

Rs.

6,50,000
50,000
25,000 "\
30,000

4,10,000
50,000
40,000

AT

Operating Profit ;
X

6,00,000

Net Sales
Net Sales — Total Operating Cost
Gross Sales — Sales Return
Rs. 6,50,000 - 50,000

Rs. 6,00,000
Cost of Goods Sold + Office and Administrative

Expenses + Selling and Distribution Expenses
Opening Stock + Purchase — Closing Stock
Rs. 25,000 + 4,10,000 - 30,000

Rs. 4,05,000 :

Rs. 4,05,000 + 50,000 + 40,000

Rs. 4,95,000

Net Sales — Total Operating Expenses

Rs. 6,00,000 - 4,95,000

Rs. 1,05,000

1,05,000
x 100

17.5

Calculate Operating Profit Ratio from the following figures :

Net Sales
Cost of Goods Sold
Office and Administrative Expenscs

Selling and Distribution Expenscs

Solution:

Operating Profit Ratio

Operating Profit
Total Operating Cost

Rs. 4,00,000
Rs. 3,00,000
Rs. 20,000
Rs. 15,000

Operating Profit l
X

Net Sales

Sales — Total Operating Cost

Cost of goods sold + Office and
Administrative Expenses + Selling
And Distribution Expenses

R
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Rs. 3,00,000 + 20,000 + 15,000

Rs. 3,35,000

Rs. 4,00,0000 - 3,35,000

Rs. 65,000

65,000 J

x 100 %
4,00,000 5

16.25 %

Operating Profit

Operating Profit Ratio

I

(4) Net Profit Ratio

Net Profit Ratio is also termed as Sales Margin Ratio (or) Profit Margin Ratio (or) Net Profit to Sales
Ratio. This ratio reveals the firm's overall efficiency in operating the business. Net profit Ratio is used to
measure the relationship between net profit (either before or after taxes) and sales. This ratio can be
calculated by the following formula :

Net Profit After Tax
Net Profit Ratio = x 100

Net Sales
Net profit includes non-operating incomes and profits. Non-Operating Incomes such as dividend
received, interest on investment, profit on sales of fixed assets, commission received, discount received
etc. Profit or Sales Margin indicates margin available after deduction cost of production, other operating
expenses, and income tax from the sales revenue. Higher Net Profit Ratio indicates the standard
performance of the business concern.

Advantages
(1) This is the best measure of profitability and liquidity.
(2) It helps to measure overall operational efficiency of the business concern.
(3) It facilitates to make or buy decisions.

(4) It helps to determine the managerial efficiency to use a firm’s resources to generate income on
its invested capital.

) Net profit Ratio is,very much useful as a tool of investment evaluation.
llustration: 11

From the following Trading and Profit and Loss Account of Ramesh & Co. for the year 31* Dec.

2003 :
Rs. Rs.

To Opening Stock 60,000 | By Sales 4,00,000
To Purchase 2,75,000 [ By Closing Stock 75,000
To Wages 25,000
To Gross Profit c/d 1,15,000

4,75,000 4,75,000
To Adriunistrative Expenses 45,000 | By Gross Profit b/d 1,15,000
To Selling and Distribution Expenses 10,000 | By Interest on Investment 10,000
To Office Expenses 5,000
To Non Operating Expenses 15,000
To Net Profit 50,000

1.25,00'0 1‘25’000
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You are required to calculate :

(1) Gross Profit Ratio.

(2)  Operating Ratio.

(3)  Operating Profit Ratio.
(4)  Net Profit Ratio.

Solution:

(1) Gross Profit Ratio

(2)  Operating Ratio

Total Operating Cost
Cost of goods sold

Operating Expenses

Total Operating Cost

Operating Ratio

(3) Operating Profit Ratio

Net Operating Profit

Operating Profit Ratio

(4) Net Profit Ratio

1] hw o o nn

nhn u Il

"

n

3,20,000

Gross Profit

x 100
Net Szles
1,15,000
x 100
400,000
2875 %

Total Operating Cost < 1op
Net Sales
Cost of Goods Sold + Operating Expenses
Opening Stock + Purchases — Closing Stock
Rs. 60,000 + 2,75,000 - 75,000
Rs. 2,60,000
Office Expenses + Administrative Expenses
+ Selling and Distribution Expenses
Rs. 5000 + 45,000 + 10,000
Rs. 60,000
Rs.2,60,000 = 60,000
Rs. 3,20,000

x 100
4,00,000

80%

Net Operating Profit

Net Sales

Net Sales — Total Operating Cost
Rs. 4,00,000 — 3,20,000
Rs. 80,000

80,000

4,00,000

20%

Net Profit (after tax) X 100
Net Sales

/50,000

4,00,000
125%

x 1

x 100

x 100
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Kano Anatysis
Answers
(1) Gross Profit Ratio
(2) Operating Ratio
(3) Operating Profit Ratio

(4) Net Profit Rati
Illustration: 12’\/‘¢ ﬁ

28.75%
80%
20%

125 % ,-‘fﬁﬁ

"

The following are the summarized profit and loss account of Sun India Ltd. for the year ending 31*
Dec. 2003 and the Balance sheet as on that date:

Dr.

Profit and Loss Account Cr.
Particulars Rs. Particulars Rs. \ Rs.

To Opening Stock 10,000 By Sales 1,20,000
To Purchases 60,000 Less : Sales Return 10,000 1,10,000
To Freight Expenses 5,000 | By Closing Stock 15,000
To Gross Profit c/d 50,000

1,25,000 1,25.000
To Operating Expenses : By Gross Profit b/d

Office Expenses
Administrative Expenses

5,000
15,000

Selling and Distribution Expenses 5,000

To Non-Operating Expenses:
Loss on Sale of Fixed Assets

By Non-Trading Income :

Interest on Investment
Profit on sale of fixed Assets

1,000 Dividend Received
To Net Profit 34,000
60,000
Balance Sheet for the year ending 31¢ Dec. 2001
Liabilities R. | Assets | Rs.
Share Capital 15,000 Cash in Hand 2,000
Reserves 3,000 Cash at Bank 3,000
Debenture 12,000 Marketable Securities 5,000
Current Liabilities 20,000 Inventories 15,000
Profit and Loss A/c 5,000 Sundry Debtors 6.000
Prepaid Expense 4,000
Land and Building 20,000
55,000 | 55000

You are required to calculate :

(a) Current Ratio

(b) Liquid Ratio

(¢) Gross Profit Ratio

(d) Operating Ratio

(¢) Operating Profit Ratio
(N Net Profit Ratio
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Solutlon:

(a)  Current Ratio

Current Assers

Current Ratio

(b)  Liguld Ratlo

Liquid Assets

Liquid Ratio

(c¢) Gross Profit Ratio

(d) Operating Ratio

Total Operating Cost
Cost of Goods Sold

Operating Expenscs

Total operating cost

Operating Ratio

(e) Operating Profit Ratio

Net Operating Profit

Operating Profit Ratio

nmunnann N 0

n

Current Assels

Current Liabilities

R, 2,000 + 3,000 4 5000 + 15000 + 6,000 1-:}]’])

Rs. 35,000 " 4
35,000 foars ‘3
‘& *k-
20,000 .
1.75 (or) 1.75:1
Liquid Assets

Current Liabilitics
Current Assets ~ (Stock and Prepaid Expenses)
Rs, 35,000 - (15,000 + 4,000)
Rs. 16,000
16,000

20,000
0.8 (or) 0.8:1

Gross Profit
Net Sales
50,000

1,10,000
45.45 %

x 100

Total Operating Cost
e x 100

Net Sales
Cost of Goods Sold + Operating Expenses
Opening Stock + Purchases — Closing Stock
Rs. 10,000 + 60,000 — 15,000
Rs. 55,000
Office Expenses + Administrative Expenses
+ Selling and Distribution Expenses
Rs. 5,000 + 15,000 + 5000

Rs. 25,000
Rs. 55,000 + 25,000 = Rs. 80,000
30,000 x 100 = 712.12%
1,10,000
Net Operating Profit ”
Net Sales

Net Sales — Total Operating Cost
Rs. 1,10,000 - 80,000 = Rs. 30,000

o x 100 =2121%

————

1,10,000
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Katio Anaiysis

Alternatively
Net Operating Profit

Net Operating Profit

Operating Profit Ratio

(f)  Net Profit Ratio

Answers

(a) Current Ratio

(b) Liguid Ratio

(c)  Gross Profit Ratio

(d) Operating Ratio

(e) Operating Profit Ratio
(N  Net Profit Ratio

(5) Return on Investment Ratio

It u

L]

W uwu

Net Profit 4+ Non-Operating Expenses
- Non-Operating Income

Rs. 34,000 + 1,000 - (5,000 + 1,000 + 4,001 .]

Rs. 35,000 - 10,000 = Rs. 25,000

25,000 "
x 100
1,10,000
22.712%
Net Profit (after tax
el ) x 100
Nei Sales
34,000
x 100
1,10,000
30.90 %

1.75 (or) 1.75 :1
0.8 (or) 0.8 :1
45.45%

72.72%

27.27% or 22.72%
30.90%

K

This ratio is also called as ROI. This ratio measures a return on the owner’s or shareholders’
investment. This ratio establishes the relationship between net profit after interest and taxes and the
owner’s investment. Usually this is calculated in percentage. This ratio, thus, can be calculated as :

Return on Investment Ratio

Shareholder’s Investments

Net Profit

Advantages

Net Profit (after interest and tax)

Shareholders’ Fund (or) Investments

Equity Share Capital + Preference

x 100

Share Capital + Reserves and Surplus

— Accumulated Losses
Net Profit — Interest and Taxes

(1) This ratio highlights the success of the business from the owner’s point of view.

(2) It helps to measure an income on the shareholders’ or proprietor’s investments.

(3) This ratio helps to the management for important decisions making.

(4) It facilitates in determining efficiently handling of owner's investment.
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Mustration; 1.3
Culculate Feturn on Investment Rati

1000 Paguity shares @ of K10 each

2000, 5% preference share @ of Rs. 10 each

teverses
Net profit before interest and Tax

Interest
Taxes

Solution;

o from the following information :

£s.

10000 i
2,00 755
5000
10,000
2,000

3,000

Net Profit after Interest and Tax i

Return on Investment Ratio

Sharcholders” Investment
Equity Share Capital + Preference Share

Sharcholders' Investinent =
Capital + Reserves and Surplus
~ Accumulated Losses

Sharcholders' Investment - Ks. 10,0004 20,000 + 5,000 - Nil

= Rl. 35.009
Net Profit after Interest and Taxes = Rs. 10,000 - (2,000 + 3,000)
= Rs. 10,000 - 5000 = 5,000
e |
Return on Investment Ratio = x 100
35,000
= 1428 %

(6) Return on Capital Employed Ratio

Return on Capital Employed Ratio measures a relationship between profit and capital employed.
This ratio is also called as Return on Investment Ratio. The term return means Profits or Net Profits. The

term Capital Employed refers 10 total investments made in the business, The con

can be considered further into the following ways :

(a) Gross Capital Employed

(b) Net Capital Employed

(c) Average Cuapital Employed

(d) Proprictor’s Net Capital Employed

(a) Gross Capital Employed
(b) Net Capital Employed

(c) Average Capital Employed

"

Average Capital Employed
Proprietor'’s Net Capital Employed

(d)

cept of capital employed

Fixed Assets + Cumrent Assets
Total Assets - Current Liabilities

Opening Caputal Employed + Closing

Capital Employed .

v

(or)
Net Capital Employed + % of Profit After Tax

Fixed Assets + Current Assets

= Outside Liabilities
(both long-term and short-term)
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In order 4
1o compute this ratio, the below presented formulas are used:

(1) Return on Capital Employed
(2) Return on Capital Employed

(3) Return on Capital Employed

Illustration: 14

il

Net Profit After Taxes

x 100
Gross Capital Employed

(or) )
Net Profit After Taxes Bcfor&l‘ﬁi@rest

. . x 100
Gross Capital Employed
(or)
Net Profit After Taxes Before Interest
x 100

Average Capital Employed or
Net Capital Employed

The following is the Balance sheet of M/s Sharma Ltd. for the year ending Dec. 31* 2003.

Liabilities Rs. Assets Rs.

Equity Share Capital 4,00,000 Good Will 1,50,000
Reserves 40,000 Building 2,00,000
Profit and Loss Afc 80,000 Machinery 2,50,000
Debenture 1,00.000 Stock 80,000
Secured Loans 1,00,000 Sundry Debtors 60,000
Creditors 80,000 Bills Receivable 40,000
Provision for Tax 50,000 Cash at Bank 50,000
Bills Payable 40,000 Preliminary Expenses 60,000

8,90,000 ,90,000

You are required to calculate :

(a) Current Ratio

(b) Liquid Ratio

(c) Gross Capital Employed
(d) Net Capital Employed

(e) Average Capital Employed

(f) Return on Capital Employed Ratio

Solution:

(a) Current Ratio

Current Asscts

Current Liabilities

Current Ratio

Current Assets

____q:—-—__-_*-—
Current Liabilities
Stock + Sundry Debtors + Bills Receivable

+ Cash at Bank + Preliminary Expenses

nunununn

n

Rs. 80,000 + 60,000 + 50,000 + 60,000

Rs. 2,50,000 .
Creditors + Provision for Tax + Bills Payable

Rs. 80,000 + 50,000 + 40,000
Rs. 1,70,000

2,50,000

-

1.47 (or) 1.47 :1

1,70,000
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(b)

(c)

(d)

(e)

Liquid Assets

Liquid Ratio

Gross Capital Employed
Fixed Assets

Current Assets
Gross Capital Employed

Net Capital Employed
Total Assets

Current Liabilities
Net Capital Employed

Average Capital Employed
% of profit after 1ax

Average Capital Employed

Return on Capital Employed

Alternatively

Return on Capital Employed

(a) Current Ratio

(b) Liquid Ratio

(c) Gross Capital Employed

(d) Net Capital Employed

(e) Average Capital Employed
(f) Return on Capital Employed

]

L | T | T TR LI T | (O O T TR T || 1]

I

1,10,000

“Te&EMen;

iqui - d Preliminary Expense
Liquid Assets — (Stock an 9
R: 2,50,000 - ( 80,000 .+ 60,000)

Rs. 1,10,000

= 0.64 (or) 0.64 :1

1,70,000 4 J!
Fixed Assets + Current Assct.s 2 10.
Goodwill + Building + Machinery ..

1,50,000 + 2,00,000 + 2,50,000

Rs. 6,00,000

Rs. 2,50,000

Rs. 6,00,000 + 2,50,000

Rs. 8,50,000

Total Assets — Current Liabilities

Rs. 8,50,000

Rs. 1,70,000

Rs. 8,50,000 - 1,70,000

Rs. 6,80,000

Net Capital Employed + ¥ of Profit After Tax
%4 (80,000 - 50,000)

Rs. 15,000

Rs. 7,20,000 + 15,000

Rs. 7,35,000

Net Profit After Tax
x 100

Gross Capital Employed
80,000 - 50,000

8,50,000

x 100
8,50,000

30,000
x 100

3.52%

Net Profit After Tax

x 100
Net Capital Employed

30,000
7,20,000
4.16 %

x 100

1.47 (or) 1.47 :1
0.64 (or) 0.64 :1
Rs. 8,50,000

Rs. 7,20,000

Rs. 7,35,000

3.52 % (or) 4.16 %

]
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(7) Earning Per Share Hatio
Earming Per Share Ratio (EPS) measures the earning capaci

ty of the concern from the owner’s point
of view znd it is helpful in determining the price of the equity share in the market place. Eamning Per Share
Patio can be caloulated 24 -

Met Profit After Tax and Preference Dividend
Ezrning Per Share Ratio =

\

A
Mo. of Equity Shares ',4;7,
Advantages

(1) This ratio helps to measure the price of stock in the market place.
(2) This ratio highlights the capacity of the concem to pay dividend to its shareholders.
(3) This ratio used 23 2 yardstick to measure the overall performance of the concern.
IMustration: 15

Czlculate the Eaming Per Share from the following data :
Fiet Profit before tax Rs. 2.00000.
Taxation 2t S0% of Net Profit.

10 % Preference share capital (Rs. 10 each) Rs. 2,00,000, Equity share capital (Rs. 10 each)
Ps. 200055,
Solution:

Net Profit After Tax and

Preference Dividend
Ezming Per Equity Share =

No. of Equity Shares
MNet Profit before Tax = Rs. 2,00,000
Taration at 50 % of Net Profit

50
20000x ——

Rs. 1,00,000
Nzt Profit after Tax Rs. 2,00,000 — 1,00,000

Rs. 1,00,000

nonn

10
10 % of Preference Dividend 200000 x @ ——

Rs. 20,000

Rs. 1,00,000 - 20,000
Rs. 80,000

2,00,000
No. of Equity Shares T
= 20,000 Shares
£€0,000
Ezming Per Equity Share

20,000
Rs. 4 Per Share

Net Profit after Tax and
Preference Dividend

1
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(8) Dividend Payout Ratio

This ratio highli
li h . 5
profits available af%cr l%lclesflhc relationship between payment of dividend on equity share capital and the
by the top management ab"‘g tax and preference dividend. This ratio indicates the dividend policy adopted
out utilization of divisible profit to pay dividend or to retain or both. The ratio,

thus, can be calculated as :

Dividend Payout Ratio

Ilustration: 16

Pe

Equity Dividend "

C -
ompute Dividend Payout Ratio from the following data :

Net Profit

Provision for tax

Preference dividend

No. of Equity Shares

Dividend Per Equity Share = 0.30

Solution :

Dividend Payout Ratio

Equity Dividend

Net Profit After Tax
Preference Dividend

Alte_rnatively

Dividend Payout Ratio

Dividend Per Equity Share

Earning Per Equity Share

n

i

Dividend Payout Ratio

I

T

x 100
Net Profit After Tax and Preference Dividend
(or)
Dividend Per Equity Share
- —— x 100
Earning Per Equity Share
Rs. 60,000
Rs. 15,000
Rs. 15,000
Rs. 6,000
ity Dividend -
Equity Dividen X 100

Net Profit After Tax and Preference Dividend
No. of Equity Sharcs X Dividend Per Equity Share

6,000 x 0.30

Rs. 1,800

Rs. 60,000 - (15,000 + 15,000)
Rs. 60,000 - 30,000

Rs. 30,000

Dividend Per Equity Share

x 100

Eaming Per Equity Share

0.30

et Profit After tax and Prefere

nce Dividend

 Net Profit AT B8 2T _—————
No. of Equity Shares
30000 _ gq, s per Share
6,000
0.30 L 100
5
6%
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Altemau“ly S )

Dividend Payout Ratio = Bl D %100
Equity Dividend = 201\:7:‘0?;? :}}n:rg:; ST TN
-’ Equity Dividend for 60,000 Shares = 60,000 x 2 = Rs.1,20,000 $
Dividend Payout Ratio . 2R s A
‘ .m.[ﬂ] LY
Illustration: 18 B 120%
e
Com : i ivi i ing i i
P:ll‘-‘- (1) Eaming Per Share (2) Dividend Yield Ratio from the following information :
et Profit
1 = RS. 3|wl‘m
Market Price Per Equity Share = Rs. 40
No. t:)f Equity Shares = 30,000
Provision for Tax = Rs 50-000
Preference Dividend =Rs. 30‘000
Solution:
(1) Earning Per Share = e ik Afx s ar PrétStens BivEens » 100

No. of Equity Shares
Net Profit After Tax and ]

Preference Dividend Rs. 3,00,000 - ( 50,000 + 30,000)

Rs. 3.00,000 - 80,000 = Rs.2,20,000
2,20,000
30,000
= Rs. 7.33

. Eaming Per Share
Dividend Yield Ratio = x 100

Market Value Per Share
7.33
= X 100
40

= 18.33%

(2) Earning Per Share

(10) Price Earning Ratio

This ratio highlights the earning per share reflected by market share. Price Enm'u_lg Ratio csln’fﬂishc:'s
the relationship between the market price of an equity share and the earming per equity s}m.c. This ratio
helps 1o find out whether the equity shares of a company are undervalued or not. This ratio is also useful
in financial forecasting. This ratio is calculated as :

Market Price Per Equity Share

Price Eaming Ratio - Eaming Per Share
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Ilustration: 19

fnumg:;‘;“:;:m&l;) Earning Per Share (2) Dividend Yield Ratio and (3) Price lim'ninsl‘l{min from the
NG
Net Profit Rs. 600000 v Y
Market price Per Equity Shares Rs. 60
No. of Equity Shares 40,000
Provision for Tax Rs. I.hll‘.UOl'l
Preference Dividend Rs. 50,000
Depreciation

Rs. 70,000
Bank Overdrafl Rs. 50,000

wouomononomn

Solution:

Net Profit After T Neafavance Divide
(1) Eaming Per Share c i r Tax and Preference Dividend

il

No. of Equity Shares
Net Profit After Tax and }

Preference Dividend Rs. 6,00,000 - (1,60,000 + 50,000)

Rs. 6,00,000 - 2,10,000 = Rs. 3,90,000
3,90,000
40,000
= Rs. 9.75

Eaming Per Share

]

Eaming Per Share

(2) Dividend Yield Ratio = x 100
Market Value Per Share
9.75
= _ x 100
60
= 16.25%
Market Price Per Equity Share
(3) Price Earning Ratio =
Eaming Per Share
B
T 93s
= 6.15

Interpretations: The market price of a share is Rs. 60 and earning per share is Rs. 9.75, the price earming
ratio would be 6.15. It means that the market value of every one rupee of earning is 6.15 times or Rs. 6.15.

(11) Net Profit to Net Worth Ratio

This ratio measures the profit return on investment. This ratio indicates the established relationship
between net profit and shareholders’ net worth. It is a reward for the assumption of ownership risk. This

ratio is calculated as :

Net Profit After Taxes

x 100

Net Profit to Net Worth Shareholders’ Net Worth

Total Tangible Net Worth
Company's Net Assets = Long-Term Liabilities

(or)

= Shareholders’ Funds + Profits Retained in business

Shareholder Net Worth
Total Tangible Net Worth

I}
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Advantages

(1) This ratio determines the incentive 10 owners.
A
as well as net worth. o

(2) This ratio heips to measure the profit

(3) This ratio indicates the overall performance and e
with which the resources 0

ffectiveness of the firm,

(4) This ratio measures the efficiency f a firm have been employed.

[Mustration: 20
Compute Net Profit to Net Worth Ratio from the following data -

Rs.

Net Profit 80,000
Provision for Tax 15,000
Shareholders’ Fund 8,00,000
Dividend to Equity Shares 20,000
Dividand to Preference

Shares @ 10 % ] 10,000

Solution:
Net Profit After Taxes

x 100

Net Profit to Net Worth

)

Total Tangible Net Worth
Rs. 80,000 — 15,000 = Rs.65, 000
Sharcholders® fund + Profit retained in business
Profit — (Taxes + Preference dividend + Equity dividend)
Rs. 80,000 — {15,000 + 20,000 + 10,000)
Rs. 80,000 — 45,000
Rs. 35,000
Rs. 8,00,000 + 35,000
Rs. 9,15,000

65,000
Net Profit Net Worth =
9,15,000

Net Profit after Taxas
Totzl Tangible Net Worth
Profit Retained in Business

Total Tangible Net Worth

TR TR (N L T [

|

x 100 =7.10%

Net Profit to Net Worth Ratio = 7.10 %

[1I. TURNOVER RATIOS

Ratios or Performance Ratios or Activity Ratios.
| statement to satisfy the requirements of different
ith which different assets are vitalized
erted or turned over into sales. The

be also termed as Efficiency

Tumover Ratios highlight the different aspect of financia
parties interested in the business. It also indicates the effectiveness W
in a business. Turnover means the number of times assets are conv
ity ratios indicate the rate at which different assets are turned over.

er ratios can be calculated :

Tumover Ratios may

activ
Depending upon the purpose, the following activities or umov
tock Turnover Ratio (Stock Velocity)

[nventory Ratio or S
(Debtor’s Velocity)

—

Debtor's Turnover Ratio or Receivable Turnover Ratio

!-J

7 A. Debtor's Collection Period Ratio
3. Creditor’s Tumover Ratio or Payable Turnover Katio (Creditor’s Velocity)

3 A. Debt Payment Period Ratio
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4,

Working Capital Turnover Ratio

5.  Fixed Assets Turnover Ratio
6. Capital Turnover Ratio,
(1) Stock Turnover Ratio 3 7

This ratio is also called as Inventory Ratio or Stock Velocity Ratio.

f{‘q‘r

LR

meas:::?l:z:zeT:E:si ;Lc:;il( r:f raw matcri:'als, workling in progress 'fﬂ"ld finished goods. This ratio is used (0

ent in stock in trade is effectively utilized or not. It reveals the relationship
be}wccn sales and cost of goods sold or average inventory at cost price or average inventory at selling
price. Stock Turnover Ratio indicates the number of times the stock has been turmed over in business
during a particular period. While using this ratio, care must be taken regarding season and condition, price
trend, supply condition etc. In order to compute this ratio, the following formulae are used ¢

(1)

Cost of Goods Sold

Stock Turnover Ratio =
Average Inventory at Cost

Opening Stock + Purchases + Direct
Expenscs - Closing Stock
(or)
= Total Cost of Production + Opening Stock
of Finished Goods — Closing Stock of Finished
Goods
Total Cost of Production = Cost of Raw Material Consumed
+ Wages + Factory Cost
(or)
= Sales — Gross Profit

Opening Stock + Closing Stock

Cost of Goods Sold

Average Stock = 2
(2) Stock Turnover Ratio = Average Inventory at Cost
Net Sales -
(3) Stock Turnover Ratio 3 ;;rage Inventory at Selling Price
Net Sales
(4) Stock Turnover Ratio = m

The above said formulas can be u

sed on the basis of the information given in the illustration.

Advantages |
o stock in trade is efficiently used or not.

(H
(2)
(3)
(4)

This ratio indicates whether investment 1

i ' is withi imit or not.
This ratio is widely used as a measure of investment in stock is within proper limit or
jonal efficiency of the

i siness concern.
This ratio highlights the operat bu

This ratio is helpful in evaluating the stock utilization.
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(5) It measures the relationship between the sales and the stock in trade.

(6) Thi§ ratio indicates the number of times the inventorics have been turned over in busine
during a particular period. s

AN
INustration: 21 w:;'i
From the following information calculate stock turnover ratio : "
Gross Sales : Rs.  5,00,000
Sales Return : Rs. 25,000
Opening Stock : Rs. 70,000
Closing Stock at Cost : Rs. 85,000
Purchase : Rs.  3,00,000
Direct Expenses : Rs.  1,00,000

Solution:

Cost of Goods Sold

[nventory Turnover Ratio =
Average Inventory at Cosl

Opening Stock + Purchases + Direct Expenscs

— Closing Stock

Rs. 70,000 + 3,00,000 + 1,00,000 — 85,000

Rs. 3,85,000

Opening Stock + Closing Stock
2

70,000 + 85,000
= = Rs. 77,500

2

. 3,85,000
Inventory Turnover Ratio = —_— = 497 times
77,500

Cost of Goods Sold

Average Stlock

Illustration: 22
The following figures are extract from the Trading Account of X Afc, you are required to calculate

stock Turnover Ratio :

Opening Stock Rs. 30,000
Purchases Rs. 1,10,000
Direct Expenses Rs. 10,000
Gross Profit Rs. 75,000
Gross Sales Rs. 2,20,000
Sales Return Rs. 10,000
Closing Stock at Cost Rs. 15,000
Solution:
Cost of Goods Sold

Average Inventory at Cost

Opening Stock + Purchases

i i k
+ Direct Expenses — Closing Stoc
Rs. 30,000 + 1,10,000 + 10,000 - 15,000

Rs. 1,35,000

Stock Turnc ver Ratio

Cost of Goods Sold
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Alternatively

Cost of Goods Sold = Sales — Gross Profit
Net Szles = Szles — Sales Retumn
= Rs. 2.20,000 - 10,000 = Rs. 2.10.000
Cost of Goods Sold = Rs. 2.10.000 - 75.000 = Rs. 1,35000
Opening Stock + Closing Stock 33>
Averzge Inventory = = ?
2
_ 30,000 + 15,000 _ 45,000
= 3 2 - 2
= Rs. 22,500
1,35,000
Stock Turmover Ratio = ——— =06 times
_ 22,500
Alternatively
Net Sales
Stock Tumover Ratio =
Average Inventory at Cost
2,10,000
- 22,500
= 9.33 times

(2) Debtor’s Turnover Ratio

Debtor’s Turnover Ratio is also termed as Receivable Tumnover Ratio or Debtor’s Velocity.
Receivables and Debtors represent the uncollected portion of credit sales. Debtor’s Velocity indicates the
number of times the receivables are turned over in business during a particular period. In other words, it
represents how quickly the debtors are converted into cash. It is used to measure the liquidity position of a
concern. This ratio establishes the relationship between receivables and sales. Two kinds of ratios can be
used to judge a firm’s liquidity position on the basis of efficiency of credit collection and credit policy.
They are (A) Debtor’s Turnover Ratio and (B) Debt Collection Period. These ratios may be computed as :

Net Credit Sales

(1) Debtor’s Turnover Ratio = -
Average Receivables

or

Average Accounts Receivable
Net Credit Sales = Total Sales — (Cash Sales + Sales Return)
Sundry Debtors or Trade Debtors
+ Bills Receivable

Opening Receivable + Closing Receivable
2

It is to be noted that opening and closing receivable and credit sales are not available, the ratio may

Accounts Receivable

Average Accounts Receivable =

be calculated as
Total Sales

Debtor's Tumover Ratio - ;
Accounts Receivable
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Illustration: 23
Calculate Debtor’s Tumover Ratio, from the following data :

Rs.

Sundry Debtors as on 1.1.2003 70,000
Sl.mdry Debtors as on 31.12.2003 90,000 A
B_llls Receivable as on 1.1.2003 20,000 ,‘E;:#'
Bills Receivable as on 31.12.2003 30,000 ‘'»
Total Sales for the year 2003 7,00,000
Sales Return 20:000

1,00,000

Cash sales for the year 2003

Solution:
Net Credit Sales

Average Account Receivable
Total Sales — (Cash Sales + Sales Return)

i}

Debtor's Turnover Ratio

Net Credit Sales =
= Rs. 7,00,000 - (1,00,000 + 20,000)
= Rs. 5,80,000
Aveisioe Aeoiits REcsivabls. = Opening Receivable + Closing Receivable
2
_ (70,000 + 20,000) + (90,000 + 30,000)
2
90,000 + 1.20,000 2,10,000
2 - 2
= Rs. 1,05,000
Debtors Turmover Ratio = it
1,05,000
= 5.52 times

2 (A) Debt Collection Period Ratio
llection period and the extent to which the debt have

This ratio indicates the efficiency of the debt co
been converted into cash. This ratio is complementary to the Debtor Turnover Ratio. It is very helpful to the
management because it represents the average debt collection period. The ratio can be calculated as follows:

Months (or)Days in a year

(a) Debt Collection Period Ratio
Debtor’s Turnover
(or)
Average Accounts Receivable x
Months (or) Days in a year

3 - r' =
(b) Debt Collection Period Ratio Net Credit Sales for the year

% Turnover Ratio
lection and efficiency of credit policy.

ates the efficiency of firm's credit col
btors.

Advantages of Debtor

(1) This ratio indic
This ratio measures the quality of receivable, i.c., de

(2
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(3) It enables a fi .
rmto
T Judge the adequacy of the liquidity position of a concern.
ghts the probability of bad debts lurking in the trade deb
rade debtors.

(5) This ratio
measures the nu ¢
. mbe ;
particular peri r of times the receivables i i :
period. are tumed over in business during 2

(6) It points out the liquidi
el tra
S P:g;l;ll:a:;cnﬁ; iibts rs, i.e., higher turnover ratio an orer deb collection
s % g ebtors. Similarl i 2 .
period implies that payment by trade debtors am';;:;ga:' turnover ratio and higher collection

Ilustration: 24

From the following information calculate:

(a) Debtor'’s Turnover Ratio and :
Piial Sales (b) g:bf Cofleldr;gt&;ufod Ratio.
Cash Sales Rs. 25000
Sales Return Rs. 5,000
Opening Accounts Receivable Rs. 10:000
Closing Accounts Receivable Rs 15,000
Solution:
Net Credit Sales

(3) Debtor’s Tumover Ratio .
Average Reccivables

Total Sales - (Cash Sales + Sales Return)
Rs. 1,00.000 - (25.000 + 5,000)

Rs. 70,000
Opening Receivables + Closing Reccivables
2

o
2500 _ps 12500
2

Net Credit Sales

nouon

Average Receivables
10,000 + 15,000
______._----"'-__-
s

-

u

70.000 = 5.6 umes

—t

= 12500
Month (or) Days ina

or's Tumoves Ratio

Debt
year

(h) Debs Collection Penod Ratio = Deblors Tumover
12
—

56
7,14 months
nts Receivable ¥

Average Accou
PRTE D A

Allrrmlh ely
Mont!
Credu Sales for the yef

“ Nt
12,500 2 12
. 20000

? 14 mmth\
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Ilustration: 25

From the followiﬁg profit and loss Account and balance sheet relatin
presented as op 3« March, 2003 :

A 1eXID0OK U] rinancial Losl and Mauage,,,m (A
Cp,

Profit and Loss Account

g to Ramesh Comp
: y

i }E:; Cr,
Particulars Rs. Particulars Bs. _—_—.’—?;_\\
To s ' —
To g,i):cl;:“g Stock 3,000 | By Gross Sales Rs. 2,00,000
To Wagcjs(?)' 1,20,000 | Less: Sales Return Rs. 5,000 1,95,000
i .
To Groxe Pmrffﬂ? 7,000 | By Closing Stock 5,000
it e/d 70,000
2,00,000 2,00,000
To Administrative Ex i
To Selling and P 15000 | By Gross Profit b/d 70,000
Distribution expe } By Dividend Received 10,000
ns
To Loss on sale oll') = X 20,000
. Fixed Assets } " 5.000
oN '
et Profit 40,000
80,000 80,000
Balance Sheet as on 31* March 2002
Liabilities Rs. Assels Rs.
Equity Share Capital
s 5,00,000 Land
(5000 Equity Shares of 100 cach) B:?!tlin ;[Sygggg
General Reserve B 00,
Priifit dind Ligs Al 50,000 Plant & Machinery 2,00,000
c
Sundry Creditors e Siie: 83,000
80,000 Debtors 50,000
Bank Balance 20,000
7.00,000 7,00,000
From the above information you are required to calculate :
(1) Gross Profit Ratio.
(2) Operating Ratio.
(3) Operating Profit Ratio.
(4)  Net Profit to Capital Employed Ratio.
(5) Current Ratio.
(6) Liquid Ratio.
(7) Stock Turmmover Ratio.
(8) Debtor's Turnover Ratio,
(9) Debt Collection Period Ratio.
Solution:
Gross Profit 0
(1) Gross Profit Ratio " Net Sales L
000
L -
195,000
= 3589%
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{2)  Operating Ratio Cperating Cost

= x 100
. Net Sales
bing Sost =  Cost of goods sold + Administralive
Expenses + Selling 2nd distribution Expenses
Cost of Goods Sold =  Opening Stock + Purchases + Direct Wages

- Closing Ste<k f?
Rs. 3,000 + 120,000 + 7.000 - 5,000

) = Rs. 130,000 - 5,000 = Rs.1.25.000
Operating Cost = Rs. 125,000 + 15,000 + 20000
= Rs. 1,60000
. 1.60,000 ;
Operating Ratio g — x 100 = 82.05%
195,000
Operating Profi
(3) Operating Profit Ratio = ———-u x 160
Net Sales
Operating Profit = Net Sales - Total Operating Cost
=  Rs. 195000 - 1,60,000 = Rs. 35.000
g . 35,000
Operating Profit Ratio = x 100
1.95,000
= 1794%
. ) Net Profit
($) Net Profit to Capital Employed Ratio = x 100
Capital Employed
Capital Employed

n

Share Capital + General Reserve
+ Profit and Loss Alc

Rs. 5.00,000 + 50,000 + 70.000
Rs. 6,20,000

40,000
6.20,000
= 645%

Current Assels

Net Profit to Capital Employed Ratio

"

x 100

(5) Current Ratio

Current Liabilities
Current Assels Stock + Debtors + Bank Balances
Rs. §0.000 + 50,000 + 20,000

Rs. 1,50,000
1.50,000

80,000

Current Ratio

=188 (or) 1.88:1

Liquid Assets
(6) Liquid Ratio

Current Lizbilities
Liquid Assets Current Assets - Stock and Prepaid Expenses
Rs. 1,50,000 - 80,000

Rs. 70,000
70,000

£0.000

= 875(or)815:1

Liquid Rato
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Cost of Goods Sold

(7)  Stock Turmover Ratio
Average Inventory
Opening Stock + Closing Stoci.

Average Inventory _
2
r

3.000 + 5,000

-

= Rs. 4,000

SlDCk Tu_n'lo\ocr In‘,enm l.?-j.fm
JOW

= 3125 umes

Alternatively
Net Sales

Stock Turnover Ratio
Averzge Invealory
1.95,000
= =48.75 tmes
. 4,000
Net Credit Sales
Average Receivables

(8} Debtor’s Turnover Ratio
Itist i i
0 be noted that credit sales, opening and closing receivables zre not given in the problem, the ratio may be

calculated as :
Debtor’s Turnover Ratio _ Toral Sales
Accounts Receivabie
_ 1,95.000
T 5000
= 3.9 umes

Month or Days in 2 year

Debt Collection Period Rario =
Debior’s Tumover

(9)
365 days
=0338 dns
3.9
(o)
12 months
- 39

3.07 months

*s Velocity. The cradit
yable. The
This r=80
Cp:d:'ax's
respect of

ver Ratio or Creditor
s to Accounts P.

uma
es as Credito
bills pe)'ab!e.

also called as Payable Turn0
compan!

sundry creditors and ‘
the averase trade creditors.
the supplier 18

3) Creditor’s Turnover Ratio

Creditor’s Turnover Ratio is )
ounts of the buying

recorded in the acc :
Creditors include

hases and

ent is made 10

purchases are g
Term Accounts Payable or Trade :
establishes the relationship between Lh.e net C'er"th::mc i
velocity ratio indicates the number of omes with whi )
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credit purchases. Two kinds of ratios can be used for measuring the efficiency of payable of a business

concern relating to credit purchases. They are: (1) Creditor's Turnover Ratio (2) Creditor’s Payment Period
or Average Payment Period. The ratios can be calculated by the following formulas :

: Net Credit Purchases A
(1) Creditor’s Tumover Ratio = {":;1'
Average Accounts Payable ., °

Net Credit Purchases

Total Purchases - Cash Purchases
Opening Payable + Closing Payable
2

Month (or) Days in a year

Average Accounts Payable

(2) Average Payment Period

Creditors Turmover Ratio
(or)

Average Trade Creditors

= x 365
Net Credit Purchases

Significance : A high Craditor’s Turnover Ratio signifies that the creditors are being pad promptly. A
lower ratio indicates that the payment of creditors are not paid in time. Also, high average payment penod
highlight the unusual delay in payment and it affect the creditworthiness of the finm. A low average payment
peniod indicates enhancing the creditworthiness of the company.

Hlustration: 26

From the following information calculate (1) Creditor’s Turnover Ratio and (2) Average Payment
Penod

R
Total Purchase 300 (00
Cash Purchases 1.75.000
Purchase Hetum 25,000
Sumdey Credstoes 1.1 2003 0 000
Semadry Crestators 31 12 200) 15,000
Bills Payadie 1.1 2000 7.000
Bills Payabie 3112 2003 B 000
Solution:
Net Credit Purchases
(11 Credisos s Turmover Ratio ®
Average Accounts Payables
Net Crodit Porchase s Total Purchases - (Cash Purchases « Purchase Retum)
= R VOO0 < (1,750 « 28 000)
- RI '“li“]
Operung payable « Cloning payabie
Avrrage Acxownty Payabde - : - -

3
-

(M0 « 7 000) « (15000 « B

st —

2
-
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i 1SR 1K)
Crediton's Turmover Yatio = -Z‘. v—{-—- s 5.3 times
WL 4
. £ ?‘Y'p
(2)  Average Payment Pertod . Month or Days in a yezr - o
Crediton's Tusnaver Yatio
12 manths
y  — = 3.0/) manths
333
(or)
305 days
= = 100.6] days
3.33
Mternatively
Average Payment Period - Aversge Trade Creditors 5 365
Net Credit Purchzacs
30564
150 55%)
= 10).5 days

(4) Working Capital Turnover Ratio

This ratio highlights the effective uwilization of working capitzl with regard 1w sales. This ratio

represent l!v: ﬁr‘m's. liquidity position. It estzblishes relationship between cost of sales and networking
capital. This ratio is calculated as follows :

Net Sales
Working Capital Turnover Ratio

Working Capital
Gross Sales — Sales Return
Current Assets — Current Lizbilities

Net Sales
Work Capital

Significance : [tis an index to know whether the working capital has been effectively wtilized or notin
making sales. A higher working capital tumover ratio indicates efficient utilization of working czpital, ie.,a
firm can repay its fixed liabilities out of its working capital. Also, 2 lower working czpital tumover ratio shows

that the firm has to face the shortage of working capital to meet its day-to-day business zctivities unsatisfactonily.
Hlustration: 27

Calculate Working Capital Turnover Ratio :

Curremt Assels Rs. 3121((1(;?1
Current Liabilities l;:s. 4.“].(”}
Gross Sales p: -m.'{m
Sales Return i
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Solution:

Working Capital Tumover Ratio

Net Sales
Working Capital

Working Capital

Working Capital Tumover Ratio

llustration: 28

The following information is given about M/s Gowda Ltd. for the y

(a) Share Capital

(b) Bank Overdraft

(c) Working Capital

(d) Curmrent Ratio

(e) Quick Ratio

() Gross Profit Ratio
(g) Stock Tumover Ratio
(h) Sales for 2003

(i) Trade Debtors

(j) Opening Creditors
(k) Closing Creditors

()

Find Out

Net Sales

I

1l

Working Capital

Gross Sales — Sales Retumn {/’

Rs. 3,80,000

Rs. 4,00,000 -

20000 %7

e

Current Assets — Current Liabilities

Rs. 2,10,000
3,80,000

2,10,000
1.80 times

Rs. 8,40,000
Rs. 50,000
Rs. 2,52,000
=254

=15:1

=20 % on sales

= § times

Rs. 5,00,000
Rs. 70,000
Rs. 40,000
Rs. 30,000

(a) Current Assets and Current Liabilities.
(b) Cost of goods sold, Average stock and Purchases.

(¢) Creditor's Tumover Ratio.

(d) Creditor’s Payment Period.

(e) Debtor’s Turmover Period.

(f) Debtor’s Collection Period.
Working Capital Turnover Ratio.

Rs. 3,20,000 - 1,10,000

ear ending Dec. 31% 2003 :

Closing Stock is Rs. 20,000 higher than the opening stock

Current Assets - Current Liabilities

Rs. 1,68.000 x 2.5 = Rs. 4,20,000

(g)
Solution:
(a) Current Assels and Current Liabilities :
'orking Capital
" Rs 2.52,000 25-1
1.5 Rs. 2,52,000
2,52,000
1 =
1.5
" Rs. 1,68,000
Therefore
Current Asscls o
- Rs. 168000 |

Current Liabilitics

= Rs. 1,68,000
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(b)  Cost of goods sold, Average Stock and Purchases :

Cost of Goods Sold

Average Stock

Stock Tummover Ratio

5 times

Average Stock

Purchases

Cost of Goods Sold
Purchases

Average Stock

Sales — Gross Profit

Rs. 5,00,000 — 20 % an sales

Rs. 5,00,000 - 1,00,000

Rs. 4,00,000 p

P
et
vt

a

Cost of Goods Sold
Average Stock
4,00,000

Average Stock

4,00,000

5
Rs. 80,000

Opening Stock + Purchases — Closing Stock
Cost of Goods Sold + Closing Stock

— Opening Stock

Opening Stock + Closing Stock

2

Since closing stock is Rs. 20,000 higher than the opening stock

Rs. 80,000
Rs. 1,60,000
Opening Stock

Closing Stock
Purchases

(c¢) Creditor’s Turnover Ratio

Creditor’s Tumover Ratio

All Purchases taken as credit purchases

Average Trade Creditors

Average Trade Creditors

L}

Opening Stoci + ( Rs.20,000 + Opening Stock)

2
2 Opening Stock + Rs.20,000
1,60,000 — 20,000 1,40,000
2 B 2
Rs. 70,000

Rs. 70,000 + Rs. 20,000 = Rs. 90,000
Rs. 4,00,000 + 90,000 — 70,000 = Rs. 4,20,000

v ’]"f; r,:w s l L

Aty 7
SN

Net Credit Purchases
Average Trade Creditors //]

Opening Creditors + Closing Creditors
2
Rs. 40,000 + Rs. 30,000

Rs. 70,000

2 /

2 /
Rs. 35,000 /

e
Ty mhe
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(d) Creditor’s Payment Period

Month or Days in a year

Creditor's Payment Period
Creditor’s Turnover Ratio

.

12 months :
. v
M it

12
/—'__-—_—_‘ 1k
-~ 1 month z,-,qﬁrﬂ
Alternatively U (Y

Average Trade Creditor's X No. of Working Days

Creditor's Payment Period =
Net Credit Purchases
35,000 x 365
i _4,20,000—
- Conar ) Mg
(e) Debtor’s Turnover Ratio
Net Credit Sales

n

Debtor's Tunover Ratio
Average Trade Debtor’s

It is to be noted that credit sales, opening and closing receivables are not given in the problem, so the ratio may

be calculated as :
Total Sales

Debtor’s Tumover Ratio
Accounts Receivable or Trade Debtor's

Rs. 5,00,000

- ——

Rs. 70,000
7.14 times

() Debtors Collection Period
Month or Days in a year

'S ion Period
Debtor's Collection Fert Debtor's Tumover Ratio
|- o8
12 months )
-——-——-?& b
: = (1.63 monlhs)

Alternatively | - .
Average Trade Debtors X No. of Working Days

M rror o

Debior's Collection Period Net Annual Sales
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(8) Working Capital Turnover Ratio i & Y\oo'
&
Cost of Goods Sold &

. Working Capital Turnover =
Net Working Capital

Ratio
0] 2
Rs. 4,00,000 g Y
i 2,50 063’ L ’ /\ “1’”,.-
RQ.‘_." ; L \'6%\ r'.-q}'jl
= 1.6 times '

(5) Fixed Assets Turnover Ratio

This ratio indicates the efficiency of assets management. Fixed Assets Turnover Ratio is used y,
measure the utilization of fixed assets. This ratio establishes the relationship between cost of goods solg
anq total fixed assets. Higher the ratio highlights a firm has successfully utilized the fixed assets. If the
ratio is depressed, it indicates the under utilization of fixed assets. The ratio may also be calculated as:

Cost of Goods Sold

1}

Fixed Assets Turnover Ratio
Total Fixed Assets

(or)
Sales
Net Fixed Assets

Components of Fixed Assets (or) Non-Current Assets
(1) Goodwill
(2) Land and Building
(3) Plant and Machinery
(4) Fumniture and Fittings
(5) Trade Mark
(6) Patent Rights and Livestock

(7) Long-Term Investment
(8) Debt Balance of Profit and Loss Account

(9) Discount on Issue of Shares
(10) Discount on Issue of Debenture
(11) Preliminary Expenses
e (12) Other Deferred Expenses
‘Govemment or Trust Securities

L Any other immovable Prosperities

St
e
R
= v A
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Illustration: 29

Find out Fixed Assets Turnover Ratio from the following information :

Total Fixed Assets
Gross Profit

Net Sales
Debenture

Share Capital

Solution :

Fixed Asset Turnover Ratio

he Cost of Goods Sold

Fixed Assets Turnover Ratio

Alternatively

Fixed Assets Tumnover Ratio

Illustration: 30

Rs. 6,00,000

20 % on sales

Rs. 8,00,000 A
Rs. 2,00,000 . 5
Rs. 3,00,000 )

Cost of Goods Sold

Total Fixed Assets

Sales — Gross Profit
Rs. 8,00,000 — 20 % on sales
Rs. 8,00,000 — 1,60,000 = Rs. 6,40,000

Rs. 6,40,000

Rs. 6,00,000
1.06 times

Sales

Net Fixed Assets
Rs. 8,00,000

Rs. 6,00,000

1.33 times

From the following information find out Fixed Assets Turnover Ratio :

Opening Stock
Purchases

Closing Stock
Sales

Total Fixed Assets
Depreciation

Solution:

Fixed Assets Turmover Ratio

Cost of goods sold

Fixed Assets Turmover Ratio

Rs.
Rs.
Rs.
Rs.
Rs.
Rs.

oo i

40,000
3,00,000
60,000
5,00,000
6,25,000
25,000

Cost of Goods Sold

Total Fixed Assets

Opening Stock + Purchases - Closing Stock
Rs. 40,000 + 3,00,000 - 60,000
Rs. 2,80,000

2,80,000
6,25,000
0.448 times
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Alternatively Sales

Fixed Assets Tumover Ratio = Net Fixed Assets

- Depreciation _
Total Fixed Assets © 0000
= Rs. 6.2510m . 25'000 =Rs 6' ‘ riﬁ;?
5,00,000 “
Fixed Assets Tumover Ratio = 6,00,000

Net Fixed Assets

” 0.83 times

Illustration: 31 ing information :
Find out Fixed Assets Gross Profit and Cost of Sales from the following

Sales Rs. 5,00,000
Gross Profit Ratio 20 % ‘
Fixed Assets Turnover Ratio (on cost of sales) 4 times

Solution:
Gross Profit = Sales x Gross Profit Ratio
= Rs. 5,00,000 x 20 %
20
00,000 x ——
0 100
= Rs. 1,00,000
Cost of Sales = Sales - Gross Profit
= Rs. 5,00,000 - 1,00 000 = Rs. 4,00,000
Cost of Sales
Fixed Assets Turnover = —_—
Fixed Assets
x Rs. 4,00,000
; i s I
Fixed Assets
4,00,000
Fixed Assers = = Rs. 1,00,000
4

\/(b{ Capital Turnover Ratjo

This ratio measures the efficienc
relationship between cost of sales or s
be calculated as 3

y of capital utilization in the business,

This ratio establishes the
les and capita empl

oyed or shareholders® fund. This ragjo may also

) Cost of Sales Sales

(1) Capital Turnover Raio = - (or)
Capital Employcd Capital Employed
Capital Employed = Shareholders’ Funds + Long-Term Loans
(or)
= Total Assets - Current Liabilities
Cost of Sales Sales

(2) C apital Turnover Ratio = (or)

e —_—
Shareholders’ Fund Shareholders’ Fund
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omponents of Capital E
Comp of Capital Employed (Shareholders’ Fund + Long-Term Loans)

(1) Equity Share Capital

(2) Preference Share Capital

(3) Debentures

(4) Long-Term Loans

(5) Share Premium

(6) Credit Balance of Profit and Loss Account
(7) Capital Reserve

(8) General Reserve

(9) Provisions
(10) Appropriation of Profits

Illustration: 32

From the following information find out () Cost of Sa

Turnover Ratio.

les (b) Capital Employed and (c) Capital

Rs.
Total Assets 10,00,000
Bills Payahle 1'50‘00,0
Sundry Creditors 75,000
Opening Stock 50,000
Purchases 3,00,000
Closing Stock 160,000
Solution:
(a) Cost of Sales = Opening Stock + purchases — Closing Stock
= Rs. 5,00,000 + 4,00,000 - 60,000
= Rs. 3,90,000
(b) Capital Employed = Total Assets — Current Liabilities
= Rs. 10,00,000 - 2,25.000 = Rs. 7,75,000
Cost of Sales
(3) Capital Turnover Ratio = P e
3,90,000
. —
7,75,000
= 0.50 times
[llustration: 33
Equity Share Capital Rs. 3,00,000
General Reserve Rs. ,50,000
Preference Share Capital Rs. 2,00,000
Long-Term Loans : Rs. 1,50,000
Profit and LSS Account Rs. 70,000
(Credit Balance)
Total Sales Rs.  10,00,000
Rs. 80,000

Gross Profit

From the above information find out

Capital Turnover Ratio
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Solution:

Sales

Capital Turnover Ratio Capital Employed ¥
A

= Sharcholder fund + Long-Term [::'um_
Cotat oy " Equity Share Capital + General, | eserte -
i + Preference Share Capital + Long-Term Loans
it Balance of P & L Alc
:-lsc ?dol(; (I}j(?(la-lr 50,000 + 2,00,000 + 1,50,000 + 70,000

Rs. 7,70,000
10,00,000
1,70,000

= 1.29 times

nou

Capital Turnover Ratio

Alternatively

Cost of Sales
Capital Turnover Ratio

Capital Employed

Sales - Gross Profit

Rs. 10,00,000 - Rs. 80,000
Rs. 9,20,000

9,20,000

7,70,000

1.19 times

IV. SOLVENCY RATIOS
The term ‘Solvency’ generally refers to the capacity of the business to meet its short-term and long-
term obligations. Short-term obligations include creditors, bank loans and bills payable etc, Long-term
obligations consists of debenture, long-term loans and long-term creditors elc. Solvency Ratio indicates
the sound financial position of 2 concern 1o carry on its business smoothly and meet its all obligations.
Liquidity Ratios and Turnover Ratios concentrate on evaluating the short-term solvency of the concern
have already been explained. Now un

der this part of the chapter only the long-term solvency ratios are
dealt with. Some of the important ratios which are given below in order to determine the solvency of the
concern :

Cost of Sales

Capital Turnover Ratio

n

(1)  Debt - Equity Ratio
(2)  Proprietary Ratio
(3)  Capital Gearing Ratio

(4)  Debt Service Ratio or Interest Coverage Ratio
(1) Debt Equity Ratio

This ratio also termed as External - Internal Equity Ratio. This
firm’s obligations to creditors in relation to fund

ratio is calculated to ascertain the
1:1. This ratio also indicates all external liabil

ers. The ideal Debt Equity Ratio is
ed claims. It may be calculated a.

s invested by the own
ities to owner record

Scanned with CamScanner



J

(a) Debt — Equity Ratio = External Equities

Internal Equities

(or)
(b) Debt — Equity Ratio " Qutsider’s Funds
Shareholders’ Funds }.‘v“r

 The lern; External Equities refers to total outside liabilities and the term Intefnal Equities refers (© all
claims of preference Sharehplders and equity shareholders” and reserve and surpluses.

(c) Debt - Equity Ratio _ Total Long-Term Debt

Total Long-Term Funds

(or)

Ti =
(d) Debt - Equity Ratio _  TouliongTam Dex

Shareholders” Funds

The term Total Long-Term Debt refers to outside debt including debenture and long-term loans raised

from banks.
[llustration: 34
From the following figures calculate Debt Equity Ratio :
Rs.
Preference Share Capital 1,50,000
Equity Share Capital 5,50,000
Capital Reserve 2,00,000
Profit and Loss Account 1,00,000
ng- 6 % Debenture 2,50,000
erm Sundry Creditors 1,20,000
ates Bi!ls-f"ayablc . 60,000
ns. Provision for taxation 90,000
-em Qutstanding Creditors 80,000
arc Solution:
“the
External Equities
ity Rati =
(a)  Debt Equisy a0 Internal Equities
External Equitics = Debenture + Sundry Creditors
+ Bills Payable + Provision for taxation
+ Outstanding Creditors
= Rs. 2.50,000 + 1,20,000 + 60,000 + 90,000 + 80,000
Rs.6,00,000
Internal Equities = Preference Share Capital + Equity Share Capital
i + Capital Reserve + Profit and Loss Alc
- = Rs, 1,550,000 + 550,000 + 2,00,000 + 1,00,000
e = Rs. 1000000

Scanned with CamScanner



Debt Equity Ratio

(b) Dept Equity Ratio

Total Long-Term Debt
Shareholders’ Fund

Debt-Equity Ratio

(c) Debt Equity Ratio

(d)  Debt Equity Ratio

Outsider’s Fund

Debt Equity Ratio

Significance : This ratio indicates the proportion of owner’s stake in the business. Excessive liabilities
tend to cause insolvency. This ratio also tell the extent to which the firm depends upon outsiders for ts existence,

(2) Proprietary Ratio

Proprietary Ratio is also known as Capital Ratio or Net Worth to Total Asset Ratio. This is one of the
variant of Debt-Equity Ratio. The term proprietary fund is called Net Worth. This ratio shows the

]

0,Uu,u0u

=06(n3:5
10,00,000

Total Long-Term Debt

Shareholders’ Funds i
coiah
Rs. 2,50,000 v
Rs. 10,00,000
Rs. 2,50,000

Rs. 10,00,000
0.25

Total Long-term Debt

Total Long-term Funds

2,50,000

12,50,000
0.2

Outsider's Fund

Shareholders’ Fund

Total Outside Liabilities
Rs. 6,00, 000

6,00,000

10,00,000
06(or)3:5

relationship between shareholders’ fund and total assets. It may be calculated as :

Proprietary Ratio
Shareholders’ Fund

Total Assets

Significance :

Shareholders’ Fund

Total Assets

Preference Share Capital + Equity Share Capital

+ All Reserves and Surplus
Tangible Assets + Non-Tangible Assets

+ Current Assets (or) All Assets including Goodwill

Scanned with CamScanner

This ratio used to determine the financial stability of the concem in general.
Proprietary Ratio indicates the share of owners in the total assets of the co

to the creditors who can find out the proportion of shareholders’ funds in
business. A higher proprictary ratio indicates relatively little secure position ir :
concern. A lower ratio indicates greater risk to the creditors. A ratio below 0.5 i alarmin

mpany. It serves as an indicator
the total assets employed in the
in the event of solvency ofa
g for the creditors.



Illustration: 35

From the following informations calculate the Proprietary Ratio :

Rs.

Preference Share Capital 2,00,000

Equity Share Capital 4.00,000 o
Capital Reserve 50,000 '{61.}
Profit and Loss Account 50,000 Wi

9% Debenture 2,00,000

Sundry Creditors 50,000

Bills Payable 50,000

Land and Building 2,00,000

Plant and Machinery 2,00,000

Goodwill 1,00,000

Investments 3,00,000

Solution:
Shareholders’ Fund
Proprietary Ratio

Total Assets

Preference Share Capital + Equity Share Capital
+ Capital Reserve + Profit and Loss Account

Rs. 2,00, 000 + 4,00,000 + 50,000 + 50,000
Rs. 7,00,000

Land and Building + Plant and Machinery
+ Goodwill + Investments

Rs. 2,00,000 + 2,00,000 + 1,00,000 + 3,00,000
Rs. 8,00,000

_ Rac 7,00,000
et atio
roprictary Rati 8,00,000
87.5% (or) 0.87

Shareholders' Fund

Il

Total Assets

wun

o

Il

[l

(3) Capital Gearing Ratio

est and/or fixed dividend bearing
nd. It can be calculated as shown below :

uity Share Capital
Capital Gearing Ratio — Equity P

Fixed Interest Bearing Funds
Equity Share Capital

Equity Share Ca
Fixed Interest Bearing Funds = Debentures + p

+ Other Long
gearing ratio indicates a com
mpared to equity share capita
xed interest bearing loans are

Il

pital + Reserves an
reference Share
-Term Loans

d Surplus
Capital

A high capital
fixed dividend as co

pany is having large funds
capital and other fi

L. A low cap

bearing fixed interest
less than eq

ital gearing ratio re

and/or
Uity share capital.

Presents preference share
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IMustration: 36

- ntt"

From the following information, you are requited to find out Capita! Gearing Ratip

%

Rs. _

Preference Share Capital S‘g?}'?)([})g ,?F;:;

Equity Share Capital 6.00'000 .

Capital Reserve 3,00, -

Profit and Loss Account 1,00,0 :

12% Debenture 3,00,00

Secured loan 1,00,000

Solution:

Equity Share Capital
Capital Gearing Ratio

. Fixed Interest Bearing Funds
Equity Share Capital Equity Share Capital + Capital Reserve
+ Profit and Loss Account
Rs. 6,00,000 + 3,00,000 + 1,00,000
Rs. 10,00,000

Debenture + Preference Share Capital
+ Secured Loans

Rs. 3,00,000 + 5,00,000 + 1,00,000
Rs. 9,00,000

10,00,000
Capital Gearing Ratio

w un

Fixed Interest Bearing Funds

tn

1l

9,00.000
10 : 9 (Low ear)

]

(4) Debt Service Ratio

. Debt Service Ratio is also termed as Interest
ratio establishes the relationship between the amoun
the fixed interest charges. It is used as a yardstick fo

Coverage Ratio or Fixed Charges Cover Ratio. This
to pay its interest periodically. Debt Service Ratio

t of net profit before deduction of interest and tax and
7 the lenders to know the business concern will be able
is calculated with the help of the following formula -

) Net Profit before Interest and Income Tax
Interest Coverage Ratio =

: x 100
Fixed Interest Charges
Illustration: 37

Calculate Interest Coverage Ratio :
Profit before Interest

= Rs. 7,00,000
Income Tax Paid = Rs. 50,000
Interest On Debenture = Rs. 3,00,000
Interest on Long-Term Loan

Rs. 1,00,000
Solution:

Net Profit before Interest and Income Tax
Interest Coverage Ratio =

x 100
Fixed Interest Charges
Net Profit before Interest

and Taxes } = Rs. 7,00,000 + 50,000

= Rs. 7.50.000
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Fixed Interest Charges Rs. 3,00,000 + 1,00,000

L]

Rs. 4,00,000
7.50,000
Interesi Coverage Ratio = —  x 100
: 4,00,000 ’
= 187.5 % (or) 1.87 :1 iy

Slgniﬁgance_: Higher the ratio the more secure the debentureholders and otheér lenders would be with
respect to their periodical inte est income. In other words, better is the position of ‘ong-tenmn creditors and the

company’s risk is lesser. A lower ratio indicates that the co i ir iti i
EasE mpany 1s not in a position to pav the interest £
also to repay the Principal loan on time. i s st bu
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